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=8a+2a-2b+2b=10a
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(iv) 2x? —y?,x% +3y% @@ :J;:z—y2
& (227 - 7+ (2% +3y7)+ (o - )
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(i) 4x-3y+7z% ¥ 2x-3y+7z #
g (4x-3y+7z2)-(-2x-3y+7z)
=4x-3y+Tz+2x+3y-T7z
=4x+2x~-3y+3y+7z-Tz=6x
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X—y+2x—4y =3x-5y
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2X+Y—Z-3X—-y+22=2X-3X+y-y—-z+22=-X+2
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1-(-3x+2y-4z)=1+3x-2y+4z=3x-2y+4z+1
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(2a+b)-(a-b)=2a+b-a+b=a+2b
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(2x+y)-(3-2y) =2x+y-x+2y=Xx+3y
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fopaft TiTa o QoW &1 T 6xy + 5y2 — 8z §, ARG B TBAT 2x + yx — 2y & | FATSY T3 b1 TeAT Afgarrsii &1 T §
S H

TSN P AT = 6xy + 5y2 - 82

Afgarsfi & W& = 2x + yx - 2y

oI &1 TRe Afg et F 31 § = (6xy + 5y? - 82) — (2x + yx — 2y)

=6xy + 5y2—8z-2x—X + 2y

= 6Xy — X + 5y — 82— 2x + 2y

= 5y% + 5xy — 2Xx + 2y — 8z
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(ii) Sfas &1 Ui =

& : (i) Sfae F i @9 = v W @ + Ren W g9 + e woEs
=(x"+Ty-20) + (-2 HartS0)+ (6 -3)
=4x 4+ Ty—2xp— 20" +4x+ Sxy+x° - 3xy
=ax? 2+ 2y + Say—3ay+Ax+ Ty

=3P +4x+ Ty

(ii) %ﬁgﬁWaaa %ﬁsaﬁmm %ﬁamm@ﬁ
=(-5x" +4x+5xy)- (3x +7y+4x)

= —5x? +4x+ 5xy —3x? - Ty—4x
= —5x% ~3x% +4x—4x+5xy—Ty = —8x% +5xy—Ty





